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1.What is the difference between the spaceship operator(<=>) and the strcmp() function?
A. There is no difference in functionality

B. strcmp() returns a Boolean value, the spaceship operator a number

C. strcmp() does a case-intensive comparison, the spaceship operator does not

D. The spaceship operator returns -1, 0 or 1; strcmp() may return any integer

Answer: D

2.Which of these error types may be handled by a user defined error handler function? {Choose two.)
A. E_ERROR

B. E_NOTICE

C. E_PARSE

D. E_WARNING

Answer: B,D

3.CORRECT TEXT

What is the output of the following code?

Sa = [1 => ‘Apple', 3 => *actus', 5 => ‘Elderflower’] +
[fBanana'’, ‘Dragon Fruit’, ‘Fig']:

echo count(3%a);

?>

What is the output the following code?

Answer:

5

4.What is the output of the following code?
Sstring = ‘Good luck!’;

Sgstart = 10;

var dump(substr($string, Sstart)):
>?

A. string(0) "™

B. bool(false)

C. string(l) "!"

D. string(2) "k!"

Answer: A

5.Consider 3 PHP files that are called asynchronously via XmIHttpRequest:
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ff sl.php
session_start();
sleep(l);

// s2.php
session start();
sleep(2);

{/ =3.php

session start();

slesp(3);

Which of the following statements is true? (Choose two.)

A. The total execution time for all 3 requests will be the maximum of the longest sleep() call
B. The requests may be processed out of order

C. The requests are guaranteed to be executed in order

D. Concurrent requests will be blocked until the session lock is released

Answer: AB
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